

# Quantum Thermodynamics

## Applications and examples

### Landauer's principle

Landauer's principle connects thermodynamics and information. Consider a system  $S$  with a density matrix  $\rho_S$ . Recall that its von Neumann entropy is defined as

$$S(\rho_S) = -\text{tr}(\rho_S \ln \rho_S) \quad (1)$$

and measures the lack of information we have about  $S$ . Indeed, suppose  $S$  is of dimension  $d$ . Then we can define the information about  $S$  as

$$I(\rho_S) = \ln d - S(\rho_S) \quad (2)$$

If the system is in a pure state,  $\rho_S = |\psi\rangle\langle\psi|$  then  $S(\rho_S) = 0$  and our information is maximal,  $I = \ln d$ . Instead, if the system is in the maximally mixed state

$$\pi_S = \frac{I_d}{d} \quad (3)$$

then  $S(\pi_S) = \ln d$  and  $I = 0$ .

We have also shown before that (2) may be written as

$$I(\rho_S) = S(\rho_S \parallel \pi_S) \quad (4)$$

where

$$S(\rho \parallel \sigma) = \text{tr} \{ \rho \ln \rho - \rho \ln \sigma \} \quad (5)$$

Eq (4) has a really cool interpretation: "The information about  $S$  is the distance between  $\rho_S$  and the state for which we have no information at all ( $\pi_S$ )"

Suppose now that we wish to extract some information about  $S$ . Landauer showed that extracting information always has a fundamental energy cost. Thus, information is physical! It is a resource, like heat and work.

Here we will follow the more modern approach of Reeb and Wolf in 1306.4352. We consider a system  $S$  prepared in an arbitrary state  $\rho_S$ . We then put this system in contact with an environment  $E$ , with Hamiltonian  $H_E$  and prepared in a thermal state

$$\rho_E = \frac{e^{-\beta H_E}}{Z_E} \quad (6)$$

We then put the two to interact via an arbitrary interaction Hamiltonian. The state of the system at some late time will then have the form

$$\rho_{SE}' = U(\rho_S \otimes \rho_E)U^\dagger \quad (7)$$

for some unitary  $U$ . This state will in general not be separable ( $S$  and  $E$  become entangled due to the interaction).

Consider now the following quantity

$$I'(S:E) = S(\rho_E') - S(\rho_E) \quad (8)$$

where  $\rho_E' = \text{tr}_S \rho_{SE}'$  is the reduced density matrix of  $E$  after the interaction and

$$I'(S:E) = S(\rho_S') + S(\rho_E') - S(\rho_{SE}') \quad (9)$$

is the mutual information between  $S$  and  $E$ , which measures the amount of correlations developed between  $S$  and  $E$ .

We have already shown in a previous set of notes that both  $S(\rho \| \sigma) \geq 0$  and  $I(S; E) \geq 0$ . Thus, clearly,  $\Sigma \geq 0$ .

Now we use the fact that unitaries do not change the entropy

$$S(U \rho U^\dagger) = S(\rho) \quad (10)$$

This implies that

$$S(\rho_{SE}') = S(\rho_S \otimes \rho_E) = S(\rho_S) + S(\rho_E) \quad (11)$$

Eq (8) then becomes

$$\Sigma = S(\rho_S') + S(\rho_E') - S(\rho_S) - S(\rho_E) + S(\rho_E' \| \rho_E) \quad (12)$$

Let us now focus on the "E" terms. From (5) we may write

$$\begin{aligned} S(\rho_E' \| \rho_E) &= \text{tr} \{ \rho_E' \ln \rho_E' - \rho_E' \ln \rho_E \} \\ &= -S(\rho_E') - \text{tr} \{ \rho_E' \ln \rho_E \} \end{aligned} \quad (13)$$

the term  $S(\rho_E')$  cancels in (12), leaving us with

$$\Sigma = S(\rho_S') - S(\rho_S) - S(\rho_E) - \text{tr} \{ \rho_E' \ln \rho_E \} \quad (14)$$

But now we use the fact that  $\rho_E$  is Hermitian, Eq (6), to write

$$\begin{aligned} -S(\rho_E) - \text{tr}\{\rho_E' \ln \rho_E\} &= \text{tr}\{(\rho_E - \rho_E') \ln \rho_E\} \\ &= -\beta \text{tr}\{(\rho_E - \rho_E') H_E\} - \underbrace{\ln Z_E \text{tr}\{\rho_E - \rho_E'\}}_0 \\ &= \beta (\langle H_E \rangle' - \langle H_E \rangle) \\ &= \beta \Delta Q \end{aligned} \tag{15}$$

where  $\Delta Q$  is the heat which entered the bath

$$\Delta Q_E = \langle H_E \rangle' - \langle H_E \rangle \tag{16}$$

Finally, in Eq (14) we write

$$S(\rho_S') - S(\rho_S) = I(\rho_S) - I(\rho_S') = -\Delta I_S \tag{17}$$

where  $\Delta I_S$  is the change in the information of the system.

We then finally arrive at

$$\Sigma = \beta \Delta Q_E - \Delta I_S \geq 0 \tag{18}$$

this is Landauer's principle

Landauer's principle provides a bound on the heat required to extract some information. Let's try to clarify the signs of each term:

$$\text{Extract information about } S : \Delta I_S > 0 \quad (\Delta S_S < 0) \quad (19)$$

(learn something)

Thus we see from (18) that for  $\Delta I_S > 0$

$$\beta \Delta Q_E \geq \Delta I_S \quad (20)$$

Moreover

$$\Delta Q_E > 0 : \text{the bath heats up} \quad (21)$$

Hence, in order to learn something about the system, the bath has to heat up

As an example, take a qubit which is prepared in the maximally mixed state

$$\pi = \frac{1}{2} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \quad (22)$$

We know absolutely nothing about this qubit. But suppose we wish to learn in which pure state it is. In this case  $\Delta I_S = \ln 2$ . Thus, the minimum amount of energy that the bath has to absorb to learn in which state the qubit is in, is

$$\Delta Q_E \geq T \ln 2 \quad (23)$$

## Entropy production

The quantity  $\Sigma$  in (18) is called the entropy production. This is a historical name. But the point is that it quantifies the irreversibility of a process.

Suppose that the system-bath interaction can be considered a thermal operation, so that

$$\Delta Q_E = -\Delta U_S \quad (24)$$

$$\text{where } \Delta U_S = \langle H_S \rangle' - \langle H_S \rangle \quad (25)$$

is the change in energy of the system. then Eq (18) becomes

$$\Sigma = -\beta \Delta U_S + \Delta S_S \quad (26)$$

where I wrote  $\Delta I_S = -\Delta S_S$ . We now recognize here the non-equilibrium free energy

$$F(\beta_S) = U(\beta_S) - T S(\beta_S) \quad (27)$$

thus

$$\Sigma = -\beta \Delta F$$

Since  $\Sigma \geq 0$  we conclude that  $\Delta F \leq 0$ . In a thermal operation the free energy always goes down. Or, putting it differently, equilibrium is the state of smallest free energy.

Instead, suppose that some work is also performed in the system. Then, according to the first law,

$$\Delta U_S = \Delta Q_S + \langle W \rangle$$

where  $\langle W \rangle$  is the total (average) work done on  $S$ . Then

$$\Delta Q_E = -\Delta Q_S = -\Delta U_S - \langle W \rangle$$

so that Eq (18) becomes instead

$$\Sigma = -\beta \Delta U_S + \Delta S_S + \beta \langle W \rangle$$

or

$$\Sigma = \beta (\langle W \rangle - \Delta F) \quad (19)$$

we have already seen this guy before when we talked about fluctuation theorems.



Recall that the Crooks fluctuation theorem reads

$$\frac{P_F(w)}{P_B(-w)} = e^{\beta(w-\Delta F)} \quad (20)$$

and the Jarzynski equality reads

$$\langle e^{-\beta(w-\Delta F)} \rangle = 1 \quad (21)$$

We can now reinterpret these as fluctuations of entropy production, instead of work. That is, we define a stochastic entropy production

$$\sigma = \beta(w - \Delta F) \quad (22)$$

which is such that

$$\langle \sigma \rangle = \Sigma = \beta \Delta F \quad (23)$$

then (20) and (21) are recast as

$$\frac{P_F(\sigma)}{P_F(-\sigma)} = e^{\sigma} \quad (24)$$

$$\langle e^{\sigma} \rangle = 1 \quad (25)$$

We believe that this is how fluctuation theorems should be interpreted: as fundamental symmetries of the entropy production.



## Example : heat exchange between two qubits

Now let's work out some examples with qubits. We start by considering the heat exchange between two qubits

$$H_A = \frac{\Omega}{2} \sigma_z^A$$

(26)

$$H_B = \frac{\Omega}{2} \sigma_z^B$$

They are each prepared in equilibrium at different temperatures

$$\rho_0 = \frac{e^{-\beta_A H_A}}{Z_A} \otimes \frac{e^{-\beta_B H_B}}{Z_B} \quad (27)$$

It is convenient to write

$$\frac{e^{-\beta_A H_A}}{Z_A} = \begin{pmatrix} \frac{1}{e^{\beta_A \Omega} + 1} & \frac{e^{\beta_A \Omega}}{e^{\beta_A \Omega} + 1} \\ 0 & 1 - f_A \end{pmatrix} = \begin{pmatrix} f_A & 0 \\ 0 & 1 - f_A \end{pmatrix} \quad (28)$$

where  $f_A$  is the Fermi-Dirac distribution

$$f_A = \frac{1}{e^{\beta_A \Omega} + 1} \quad (29)$$

and similarly for B. We also use the notation, when convenient

$$\bar{f}_A = 1 - f_A \quad (30)$$